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N B3NS
= SAIZANER2Y
Sl St BRI(GHATAY SHIH) CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=2d M2 WEHHI(3Y) 270,000 *5H 1,350
O322 d2suHHI(1=Y)
360,000& 10 3,600
204 MR AH| 29,040 29,040 0
01 MR ZH 1,200 1,200 0
OXMg = HH| 100,000& 1H 128 1,200
03 EZ YR 27,840 27,840 0
oszgesy 27.840
TIPS ANBAB 2
80,000 x23H «12& 22,080
FIEINGESRE 80,000& x1H »12& 960
O - oS R 80,000& x1H » 122 960
HALLPLSBRH 80,0008 +1% 128 960
S=zdsEH3RE 80,000& x1H 123 960
SILSESHNEMNSRAZE
30,000 x2H 123 720
elgsH (23 &) 50,0008 +2H 128 1,200
401 AIEHI L 2 CHYI 240,000 119,000 121,000
01 A& HI 240,000 114,000 126,000
OBAANYA BEE SEA 22U ZA
80,000,000& =14l 80,000
O3 AL Zels Edl BA 160,000
405 XHobF S HI 11,000 0 11,000
01 AL ESFH S 11,000 0 11,000
Odt=E SEHAEI F 110,000& » 1004 11,000
oot AE 2L (ct=SAtY SL3IH) 3,851,531 3,369,790 481,741
gR05t=xelAlE 23 3,398,506 3,219,790 178,716
101 @144 dl 64,657 8,980 55,677
04 JIZHHZ2XEES 64,657 8,980 55,677
Odt=E2=dMeld 8&2 4 24
130,2603 x2H x2 U« 123 6,253
OzxZEEXN & SoXMelAld HA o]
130,260 *1H 2«53 1,303
OYRstaHalZ MEXY oI
130,260 & x2H 3 33| 2,345
OSAEXCAE 29 oAl 54,756
22 130,260& »1H 248 32,305
sesdsE 130,260 » 1% «52 6,774
e =] 130,260 *1.5x1H +52L 10,161
42 S 47,410,000 x11% 5,216
A= & otdE 7Y 300,000& »1H 300
201 Let24d] 1,157,720 987,220 170,500




SN BAAYL
HE: #FIEANL2Y
Sl SRGAHAAANE SH(BIETAY SHIN) (B9 ®R)
SA - BAEN) - NRAY - LS 0l &F 24 il HRE2
01 AL 22l bl 84,320 37,320 47,000
OFTAMN HY222(MEHSLAA)
910,000 *123] 10,920
O+EIMN HBL2S(SSEAUM)
200,000 *123] 2,400
OAZ =&Y X (ZOAI)
2,000, 0002 *52 10,000
ORI A 248 6,000,0002 *13] 6,000
O22f FIIBM £42 1,000,000 13 1,000
O+ESFII(MS) BEAA 442
6,000,0008! *13] 6,000
OFIISH Sata 2M(2IE)
500,000 *43] 2,000
OSASHAANE old HEX 2L YX
1,500,0002 *83| 12,000
OSASHAAANE 57 2aH(%4F L AL
A 4,000,000 *14] 4,000
OSASR HIIS Heltl(HIAA)
150, 000! +200E 30,000
02 232l 1,073,400 949,900 123,500
OLeH2IY HIQB(SHSHANE ) 600,000
OZBZTR2(SH - 4514523 S)
300,000 *12% 3,600
O REHI(1Hh) 6,800
xe 22 225,00021 *1CH * 122 2,700
Ty ALt 200,0002 1CH 63l 1,200
xe Erolol A 2,200,000% *1CH 2,200
iy 3222 2 PR
700,00024 *1CH 13l 700
OASIE Jt28 HE(LPG) 7Y
1,0002 *3,000kg 3,000
OAN& B2 bl 460,000
dRMT AL IR 150,000
B HBTA 4,000,000% *14} 4,000
St X Meltl®  150,000% 1,000 150,000
GRS SHY FIEASY
5,000, 0008 *23] 10,000
soHelAE R 50,000
Sa2 HMelAld XYl 96,000,0008 *14] 96,000
206 T2 | 274,650 216,690 57,960
01 2 bl 274,650 216,690 57,960
OJNANES SXNB4 AW (LE, 2Y S) 7
o 1,000,0008! *53| 5,000
OFINES SXNB4 MM (HE, IS S)7
o 1,000,0002! *83] 8,000




SN BB
M SHBIZANE2Y
Sl HRGAHRIAL 2Y(BLETAY SEHH) CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
SFEF RN =R RN
4,800& *50kg*3652 87,600
OsHMelAld SEHM(Alun) &4F 7
130& %3,000kg *365 142,350
O2gey |A22E 32H ¢
4,000& x20L*60S 4,800
OSASHIUNE AHHLAL 4B 2
3,000& «20kg =365 21,900
OSAEXANE RA2eE MM 72
1,000, 000& *53| 5,000
207 A& H| 233,000 107,000 126,000
01 A ESHI 223,000 97,000 126,000
OB +H2IT AN ST S
43,000,000& =14 43,000
OLREI+HET SSHAHI ALUY
180,000, 000& * 14 180,000
03 Al & 11HI 10,000 10,000 0
OAIE & 2| 10,000
AEZAIF P 200,000& 158 3,000
AN (SE) 7Y 175,000& »20Z *23| 7,000
301 LEEXZ 1,000 1,000 0
12 JIEtEA S 1,000 1,000 0
OBL+% - 2¢Hel L3
10,000,000& %10/100 1,000
308 XXM S0IA 6,879 0 6,879
07 IXNSHHARE = 6,879 0 6,879
OSAE XMelAld 882 M=z RE3
153 *450,000kg*1.019 6,879
402 RI2EX=20| A 1,575,600 1,759,800 A 184,200
03 RIZHRIEF AL HI 1,575,600 1,759,800 A 184,200
O=Z=HFI|(TMS) Zeltig 3,800,000& x12& 45,600
OZdHXHelAld 2eltnd
127,500,000& =122 1,530,000
405 TtakF S| 85,000 139, 100 254,100
01 et EFSFHSHI 85,000 139, 100 254,100
OLRATI+HAZ MSHSE BEML IS 5
Il 7Y 10,000, 0002 1CH 10,000
O3St AN SRIIEA(TOC) 24
Il 7 75,000,000 = 1CH 75,000
gRotXelAld “SAIENE 453,025 150,000 303,025
401 Al B2 28I 453,025 150,000 303,025
01 A& HI 432,065 143,985 288,080
ot “F SYH DHMISAH(BIS=E
JEZSE SR 95,000, 000& %99. 1% 94,145

_4_




SH BIANYA
M SHBIZANE2Y
& g5t elAd 2 (ot ALY SE3IA) (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Od&dot=Held =5 d3J| Mg LHI3A
(=&88) 55,000,000 =14 55,000
Od&ota=Held =& SFHMAHL IR
YWD, A3, WSE, ASHY S)
70,000,000& =14l 70,000
O3S+ E = F SEMAL WS AH(E
*=3) 50,000,000& » 14! 50,000
Og&ot=HeldE = 455D 2l SAM 44,000
OSASX2AA OINIAD EE2 0ISEX
XS At 120,000,000& *99. 1% 118,920
02 Zteltl 19,025 4,650 14,375
OEdot=HMelZE =& HEZEMAE DI AHE
*=3) 5,284,510& 1. 1¢l 5,813
Od&ot=HMeldE =5 &8I MOEL WM SA
(=&88) 5,284,510& =1.1¢l 5,813
Od&ot=Held =& SZMAHL nHIAM (R
QEDT AJRl, BSX, ASHY 5)
5,284,510& x1.4¢0l 7,399
03 Al =2 THHI 1,935 1,365 570
OEAGH+HMUE = F SEH RHMISAH(BIS=E
JEISE S 95,000,000& *0.90% 855
OSAESXAE OlAIHI 8&E= 0ISEX
XS At 120,000, 000& *0.90% 1,080
2208 SHHRAANE SLGIAEAY SEH) 1,919,127 510,686 1,408,441
| 413,563
Al 1,505,564
2ot 2E(BX) 1,919,127 510,686 1,408, 441
| 413,563
Al 1,505,564
201 L2l 133,927 285,324 A 151,397
01 At 2t 2l 2,000 19,560 A 17,560
Oget=&H| 2,000
02 8323l 131,927 265,764 A 133,837
03323 (&II23) 5,000,000& x12& 60,000
O3B (S - &t 23 )
893,840& »12& 10,727
OXtgl(1CH) 4,200
s sl 200,000 x1CH*12& 2,400
Sz ¥ B8 1,200,000& 101 =13l 1,200
g =8 2 KA 22l
200,000& = 1CH*33 600
O=& KXY 57,000
2= - UEdt=HMaE AMEEH S XY
20,000,000 *20H 2~ 40,000
22 - UEo=HMel ¥ XS FIAEEZ
3,000,000 *x2JH A *13| 6,000




SM: BEANYA
M SHBIZANE2Y
Sl 22008 HAHeAL SY(BLTAMY SBEH) CERED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
SE- "o+ Nl Y 7LiE SLUNES
5,500,000 2K A 13| 11,000
202 O4dl 5,200 10,400 25,200
01 = LHA YI 5,200 10,400 25,200
=22 - 0Eot=HM2E 22 S0
20,0003 x1021+260 5,200
401 Al HI & 2 08I 100,000 0 100,000
01 A& HI 99,100 0 99,100
22 - UEol=XMaE SUAML FEMOE
| 50,000,000 291 2~*99. 1% 99,100
03 Al 2 0HHI 900 0 900
O2s - dEct=xeld SUALE SFMOE
ms| 50,000,000& *27H 2= *0. 9% 900
402 QI2H X201 M 1,680,000 186,000 1,494,000
J| 413,563
Al 1,266,437
03 BIZHRIEF AL HI 1,680,000 186,000 1,494,000
O33ota=Z A48 22 (2E,208,42742,
EHHIOE) 26,666,660 *63H 2~ 1,680,000
| 413,563
Al 1,266,437
DiSot+=HMelAld 2Z(ot=Z At SE3H) 1,258,680 1,582,520 A 323,840
= 76,000
Al 1,182,680
ds2H Dig2oteHMelAld S (AHA) 420,460 385,720 34,740
101 @124l 24,000 24,000 0
M4 JI2ZHZEXNSES 24,000 24,000 0
OHIOISBY M2 & (6IA) HMAAE o2
100, 000 & x5 x 10 20K £ 10,000
OMRBBE Ml &(4MA) AdEHA 2
100,000 x5 H »7 43| 14,000
201 YEt2 Ayl 180,460 320,735 A 140,275
02 =224l 180,460 307,535 A127,075
OYsZd=Hot=XeAE #II23
4,100,000 #2704 2 110,700
03323 (84823) 40,0003 #2700 2« 12& 12,960
Odsda An2otHMelAld Xkl (40H) 26,800
LSS (2H) KR
250,000& *2CH =128 6,000
LYEHUIAX (1) KR
500,000 x1CH*12& 6,000
HEZ 2 X (1) R FHl
300,000 x1CH*12& 3,600
Xhek A 2= 48l (40H) 400,000 *4CH 53] 8,000




SH: BEALL
= SAIZANER2Y
Sl DISat+HRlAE 2Y(GHETAY SN CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
NSTHM S 100,000 »4CH 23] 800
28z 600, 0003 *4CH+13] 2,400
OoHdsZ==AHdt=xXclAlE ANLZEEI KL
3,000,000 *100H 2 30,000
202 o4 Hl 8,000 14,800 A 6,800
01 = LH 4 Hi 8,000 14,800 A 6,800
odszdaAdt=HelAld 29 &0l
20,0003 x2H «200! 8,000
401 AIEHI L 2CHEI 208,000 0 208,000
01 A& Bl 206,128 0 206,128
OUsB2A LML BSIIHOE L 2
AZAMOAH X 7,200,000 «15J0 2~%99. 1% 107,028
ogdsZAdt=HMelANE DIMsATR EX(
e, nE) 50,000,000 21 2~*99. 1% 99,100
03 Al 2 THHI 1,872 0 1,872
OUSTLAB+HANE FSIIHOE L 2
HZAMOH £ 7,200,000 *15J1 2= +0. 9% 972
ogdsZAdt=HMelANE DIMsATR EXI(
e, nE) 50,000, 0003 *2IH 2= *0.9% 900
= OtSct=XMelAE 2F 238,220 456,800 A 218,580
201 Let24d] 166,100 251,100 285,000
01 At 2teltl 2,500 13,500 A 11,000
Oger=EH| 2,500
02 =224l 163,600 237,600 AT4,000
O&&Z=AHdt==XelAE HIIe3
11,000,000& = 12& 132,000
O2Z223(8d - dot==23 8)
300,000& »12& 3,600
O=& %=Xt 28,000
HELsHGt=HMel A E AlEEH S XY
3,000,000& *74 & 21,000
A2 20t=HelANE 2= W ZESA
7,000,000% 104 & 7,000
202 (44l 4,000 8,000 A 4,000
01 = LH 4 1l 4,000 8,000 A 4,000
OdalZ=Hot=HMelAle B&8 & KXl =
ol 20,0003 »1H 200 4,000
207 A RO 21,120 52,800 A 31,680
01 A3 39l 21,120 52,800 A 31,680
O8&lZ, 432 Ht=XMelAld Jl=xc
10,560,000 «2J4 A 21,120
301 LPEAS 7,000 0 7,000
12 JIE2 43 7,000 0 7,000




2N
X ZH -
L= B

el

ALY A
BHIEZNER2E
OFSdt=XMelANE 2L (Gt AMd SE3IAH)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OlISat=HMelAE =8 s&2 Mol E43
700,000 *109H 2 7,000
401 Al HIZ 201 I 40,000 100,000 A 60,000
01 A& HI 40,000 100,000 A 60,000
OObtSat=HMelAlE EX0H
10,000,000& «4H 2~ 40,000
St==9 &X ¥ Zel(sHE otSot=% FHl)-0t 600,000 0 600,000
SotaHelAlE HBAG(BE)
= 76,000
Al 524,000
401 Al HIZ 201 8] 600,000 0 600,000
= 76,000
Al 524,000
01 A& HI 596,220 0 596,220
O "™ DtSot=HMelAlE HEAS
600,000,000& *99.37% 596,220
= 76,000
Al 520,220
03 AlE =2 THHI 3,780 0 3,780
O HI™ OtSot=XMelAlE HEAE AIE R0
600,000,000& *0.63% 3,780
ot=Z 2tel 12,780,055 19,111,483 26,331,428
= 5,566,000
Al 7,214,055
St+=C&H L RAZ2(ot=ZAIY SE35H) 3,168,055 1,224,055 1,944,000
St =LA 334,000 280,000 54,000
201 24l 34,000 30,000 4,000
01 At 2t 2l 34,000 30,000 4,000
OsS&EE Xt 2,000,000 17 34,000
401 AIEHI L 2 CHYI 300,000 250,000 50,000
01 A& HI 300,000 250,000 50,000
Odt=S&E4H (4 - a8teHI1) 150,000,000 *23| 300,000
ot==&bBlAHS 2,690,000 800,000 1,890,000
401 AIEHIZL 20 2,690,000 800,000 1,890,000
01 A& Hl 2,690,000 800,000 1,890,000
Odt=x 2s=E=> 500,000
O2A2L o222 XA (EFAILHAX )
500,000,000 =14l 500,000
OSHEZZ FAJA2ZA AIAEH A A
10,000,000 *39H £~ 390,000
OLSot+=22 FHIALY =48I (XtAl)
1,300,000, 000& 14 1,300,000
St mAlel= MY 19,105 19,105 0
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g3 A

for

)

ol

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
206 M = Hl 19,105 19,105 0
01 & bl 19,105 19,105 0
Odtx=ERANELE INMHF2Y 19,105
o0 = 5 2 (D648) 260,000& *20JH 5,200
< Z4=8+0[(D300) 211,000& =204 4,220
Ab2$ 00 = = 24 (1000%1000+50)
375,500& =104 3,755
Ab2HOH & €2 24 (600%600%50) 128,500 20K 2,570
AF2HOH & S5 24 (700%700+50) 168,000 20K 3,360
St w2 & B 124,950 124,950 0
201 et A | 121,950 121,950 0
02 3524l 121,950 121,950 0
OXedl (st AEE2 100) 10,750
PNE=E =] 400,000& *1CH=12& 4,800
x-S L 22| 500,000& *1CH =103l 5,000
ANHFEES 750,000& =104 750
2AE L BFILES 200, 000& =104 200
OZTHEZE A& EH KA 50,000
OTHEZE MIIL=2 5,000,000& x12& 60,000
O333(8023 8) 100,000& *12& 1,200
202 04| 3,000 3,000 0
01 2LHOHI 3,000 3,000 0
OZUWHOHI (H2=&LH g2 220 H|)
20,0003 x1H =150 3,000
Sl Z2AEUIAMY (GHES ALY SEESIH) 5,929,000 15,580, 285 N9,651,285
= 2,988,000
Al 2,941,000
FEEo X ¥ 22l (a2 &Hd|)-AE 223 259,000 6,725,714 N6,466,714
A (EX)
= 181,000
Al 78,000
403 ItXISHHSA201H 259,000 6,725,714 N6,466,714
= 181,000
Al 78,000
02 3J2SHCHStA 2 2 AL B 259,000 6,725,714 N6,466,714
Ox& &2 HHI ALY 259,000,000 * 14! 259,000
= 181,000
Al 78,000
FEEo X 2 22l (oh=2H HY|)-E R [2CHH ] 851,000 1,062,857 N211,857
FEZAZHUIAIE (EX)
= 596,000
Al 255,000
403 X SHMS K201 851,000 1,062,857 N211,857




2N
X ZH -
L= B

el

A
=
2t

e

o

H e 1

EN
2

3
A
e
A
e

t
t

[e][lye]]

ZHIALY (ot=Z At

Jm

23)

for

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 596,000
Al 255,000
02 ZI2SHUSA=2EAEAS Y 851,000 1,062,857 A211,857
Od 2t ot L2 2 - Y| ALY
851,000,000 « 1Al 851,000
= 596,000
Al 255,000
ot=E9o AX 2 Zel(ot4=201 Hd|)-Y= [3EH] 3,159,000 2,625,714 533,286
SI+=ZZHHMY(EX)
= 2,211,000
Al 948,000
401 Al HI L 2 0HHI 3,159,000 2,625,714 533,286
= 2,211,000
Al 948,000
01 A& H| 2,500,470 2,625,714 N 125,244
OYLA[3HAH] St Z2FHI ALY
2,500,470,000& » 1Al 2,500,470
= 1,561,000
Al 939,470
02 2teld| 650,000 0 650,000
OYH[3CHH] Sl Z2ZHUIAMY 2esd
650,000,000 » 1Al 650,000
= 650,000
03 Al 201 Y| 8,530 0 8,530
OYH[3CHH] Sl+=2ZZ2ZZHHIAY ALY
8,530,000 x14! 8,530
ot4=&9o AXl & 22l (ot=2)1 HH|)-=solL=2=2 1,660,000 4,786,000 N 3,126,000
HHIAIE (EX)
401 AlEHIZL £ 0HY| 1,660,000 4,786,000 A 3,126,000
01 Al&H| 1,504,024 4,773,078 N 3,269,054
OL= ot&=22 FHIAY
1,504,024,000& =14l 1,504,024
02 2eldl 150,000 0 150,000
OLZ: o222 HUAY 2d2s24d
150,000,000 =14l 150,000
03 AlE 21| 5,976 12,922 6,946
Ok s 5422 HYAY Al&20|
5,976,000 =14l 5,976
OISOl ALY (Gt ALY EE 3 H) 3,683,000 2,307,143 1,375,857
= 2,578,000
Al 1,105,000
otE=E9o & 2 22 (s0HE OI26t:E &Hl)-2 3,326,000 497,143 2,828,857
MR OISolE EXAME(EX)
= 2,328,000
Al 998,000
401 Al HI L £ 0HHI 3,326,000 497,143 2,828,857




SAAE A
ot=E 2t
DiSot+=S AL (Gt ALY SE313) (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 2,328,000
Al 998,000
01 A& HI 3,317,020 493,564 2,823,456
O8N OtsSot=E EX ALY
3,326,000, 000& *99.73% 3,317,020
= 2,328,000
Al 989,020
03 A& =2 THHI 8,980 3,579 5,401
OE&XF Otsot=E EXAE A2
8,980,000 » 14! 8,980
+Z0o A1 ¥ Zel(sHE OtSot+== HHl)-A 357,000 810,000 A 453,000
A7 0tSdt=E EXAMG(EX)
= 250,000
Al 107,000
401 AIEHI L 20 357,000 810,000 A 453,000
= 250,000
Al 107,000
01 A& Bl 354,430 804,897 A 450,467
OMEXIF DtSot=& XA
357,000,000& *99.28% 354,430
= 250,000
Al 104,430
03 Al 2 THHI 2,570 5,103 A 2,533
ONMEZXIF OtSot== EXAY AIZE20Y]
2,570,000& x 14 2,570
St MM &= 250,013 214,413 35,600
St HATHAES (=S ArR SE3IH) 250,013 214,413 35,600
St NS 143,038 118,738 24,300
201 Let2d] 113,238 103,938 9,300
01 At 22l 82,928 82,928 0
OSBINLELESAH 2L SHTA =2
9,000,000 » 14l 9,000
O3JIgEgsHZ=Z03 HolH &2 M
2,500,000 » 14! 2,500
O oI 2 HME(0a, 2o HEEI S) 8,000
Odt=ZAIEZ 1DXN &5 & MZEH
200,000 x5+ A 1,000
Odt+= 2= & - FUE I X2
600,000 1228 7,200
Odl+=TAIEE MENE R =2
10,000, 000& *1.5% 150
O3J1galAnedZ2 (Gt Ass 2 &
) 2,753,900, 000& *2% 55,078
02 =24l 30,310 21,010 9,300
OLXNNLESE 2RI (YE)
3003 +200=s+12& 720

_11_




N e s
NMHEES (st MY SE3AH) (&)
= _ — d =
HE - B (3H) - KISAY - BYS 0l &t o il HImEET
ORNNES 2BR3(51)
1,930 x60= 122 1,390
O3JIgELEAH 2208 |22l
3,750,000 x4 4! 15,000
O3JISEaH I 2elAAE |2
=l 700,000 » 14! 700
Oot=EAHFI 2 =&KXl 12,500
HZI A7 & 0EEX
90,0002 » 10094 2 9,000
H=D! wH & Sd8aHad =
70,000 *500H 2 3,500
202 044l 4,800 4,800 0
01 = LH o4 1l 4,800 4,800 0
Odt=EAEE Bl - Fx=23H 20U
20,0003 «2H =10 128 4,800
802 BHEt = JIEF 25,000 10,000 15,000
JIEtEtE =2 S 25,000 10,000 15,000
ONEE o= AIEE U= e 10,000
Ounde JNREs Uy Ete 15,000
ol g1yl 106,975 95,675 11,300
801 Gl HIbl 106,975 95,675 11,300
01 Broil bl bl 106,975 95,675 11,300
oaolgltl 106,975
HE2HZHI 2,240,269 2,139,563 100,706
ol 2ol (st T AR S23IH) 2,227,569 2,127,063 100,506
ol 2AH| 2,227,569 2,127,063 100,506
101 @144 dl 1,956,652 1,863,211 93,441
01 2= 1,438,486 1,406,900 31,586
oJles 952,130
sE(lleds) 6,331,750 x1Hx 123 75,981
Se(81ds) 5,071,000 »1H«14 5,071
6= 4,163,200& x8H «128 399,668
= 3,525,700 x6H 123 253,851
. 8= 2,466,600 x5H 123 147,996
. 9= 1,932,300 x3H x12& 69,563
oz 13,573
58l 4,221,0003 *1H «12&3 4 1% 2,077
=S 3,371,800& x6H «12& x4 1% 9,954
IS5 3,132,600 x1H «12& 4. 1% 1,542
ORI E =y 97,097
d2+4 952, 130,000& *1/12%95% 75,377
2ota 32 18,240




T

ro o2 i
¥ 02 oY
M0 [0 =

02 02 1°

]
(

St ALY
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SA - FE - BI(EA) - NRAY - By 0l b il 2
-20E 0] & 100, 000& 11H < 12& 13,200
-15& 0l &~204 0 2t 80,000& »4H » 128 3,840
-58 0l & ~10 0 & 50,000 »2H =122 1,200
d2+E FIt Jtit= 3,480
-254@ 0] & 30,000 x9H » 122 3,240
-20 0] &t ~254 0] 2t 10,000& x2H x 123 240

OJI&E+ 22,560
b < Xt 40,0003 x17E 123 8,160
FAIE 20,0003 x8H » 122 1,920
SN (HRMAA) 20,000 x8H 128 1,920
SAIN=E(SMAH) 60,0003 »8H =12 5,760
SANZ(AMOIZXA)

100,000 4 122 4,800

OPIER=[Ea=, 408,300 »3H x43] 4,900

Ooflgz2e+¢ 13,800
£ 50,000 x23H «12& 13,800

O&d=¢ 41,400
St=XelANE2RR=E

150,000& »23H 122 41,400

OJlz=gR=¢ 600
dojotd e =g 20,0003 x1H » 12 240
HIHEBRI 4T JAS

30,0003 x1H »12& 360
Oozuz2=e+¢ 138,587
6= 11,6342 «8H «50Al 2Hx 12 55,844
= 10,5093 x6H +50A| 2t 128 37,833
8= 9,4343 5 +50A| 2t+ 128 28,302
9= 8,528 3 x50Al 2t+12& 15,351
HEASUHHEZSR 11,634 +«3F #4Al 2H+0 1,257

OZ Mz A 130,000& »23H 122 35,880

OgZE S Ottl 952,130,000& = 1/12 «120% 95,213

O ¢ IIE &l

952,130,000 *1/12%86%+*1/30% 10 22,746
02 JIEt& B = 136,137 68,197 67,940

OJl2s8(#agz) 3,777,400 x2H 123 90,658
g2 10,675
g2+ 90,658,000 *1/12%50%*23] 7,555
F2x=g Iteta 2,400
-204 0l & 100,000 x2H «12& 2,400
2" IS 720
-25@ 0] & 30,0003 x2H x128 720

Ois=¢ 1,920
i < Xt 40,0003 »1H =128 480
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2N
X ZH -
L= B

el

B ARl A
=ERET
A2 YU (GH+EAY SE3H)

CEH SR (BH) - NBAY - B2 o A o SSa HDE2
2= 20,000& x2H x12& 480
SAINE(HM) 20,000 x1H x12& 240
EANE(EW) 60,000& x1H x12& 720

Ofga2tLdg(2s8) 50,000& x2H x12& 1,200
OXdLH(otx=H2UE2R)
150,000& x2H «12& 3,600
Ox22E 11,4432 x2H «50A| 2+ x 128 13,732
OFuZ A 130,000& x2H x12& 3,120
OY & = IHy| 90,658,000 *1/12x60%*23] 9,066
Ot Al
90,658,000& *1/12x86%1/30* 10 2,166
03 I HLZ22 NHE 382,029 388,114 N6,085
Ot (I ALY A) 158,875
23 2,228,900 x3H x12& 80,241
da2s¢ 2,228,900 *3H x100% 6,687
d2GIHa2 80,000 *3H x12& 2,880
hs< 4,560
=D 40,0002 *3H 122 1,440
-2 A= 20,000& x4H x12& 960
-2 E(HM) 20,000& x1H +x12& 240
2= (EM) 60,000& x1H x12& 720
-2UNE(AMOIEXH)
100,000 *12 *122 1,200
SeHeIEIR Feiag
150, 000& *3H x12& 5,400
HHZAH| 160,000 *3H x12& 5,760
| A 4= 100,000& *3H x12& 3,600
AR 125,000 *3H x 12& 4,500
HAE S| 2,228,900& *3H x120% 8,025
S N | 110,2243 x3H 15! 4,961
Al 2He| =& 20,6673 x13A1 2+ *3H x 128 9,673
s52422xY 20,504
- A E A H| 165,336 3 * 1G22 »12& 3,969
—QLEMENS XS
165,336 3 * 1P x4 »12& 7,937
-SAIE=SH2l A& 165,336& * 1 x52 8,598
AAESH XY 408,300 x1H 43| 1,634
I =4l 150,000& *3H 450
OBLRN(HBHYYR) 132,413
RIEr= 2,076,430 x3H x12& 74,752
da2s4¢ 2,076,430 *3H x100% 6,230
d2GIHa32 130,000& *x3H x12& 4,680
HEYNRY 120,000& *3H x12& 4,320




SH BIANYA
Hu: @AY
CHol: ol | (sla T A SEa) CEEEED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
A2 2R 18,871& *x3H x15A| 2H*12& 10, 191
SUA2LSS (L2 R
150,972& 3P x 15 6,794
oz AH| 130,000& x3H x12& 4,680
oteHel&Ed < 150,000& *3H x12& 5,400
HE SOt 2,076,430 *3H x120% 7,476
A DS Abd| 100,648& *3H x 15 4,530
Es=g 3,360
—-bif < Xt 40,000 x2H x12& 960
—S A= 20,000& x2H x12& 480
2 AIE(HMA) 20,000& x2H x 128 480
S2ANF(EMAHE) 60,0002 x2H x12& 1,440
OB (SASHeIAL) 54,054
=3 3,086, 1503 x 1 «12& 37,034
s422x 177, 1903 x 19 =40 7,088
HHZAY| 130,000& *1H x12& 1,560
Stxel&Ee=Y 150,000& x1H x12& 1,800
HAE S| 400,000& x1H x12& 4,800
O AbH| 118, 130& *1¥ » 15 1,772
QaEg =2 (sl , 222) 36,687
=203 Y3 348,649,000& x4 .5% 15,690
ALBERES 348,649,000& *3.35% 11,680
SOOI BEESS 11,680,000 *8.51% 994
IEEERE S 348,649,000& *1.5% 5,230
MTHEE 2 348,649,000& *0.887% 3,093
204 &2 = A H| 47,640 43,860 3,780
02 =2 &E xH| 47,640 43,860 3,780
O&ZEXH| 47,640
=1 250,000& x1H x12& 3,000
62 165,000 x8H 12& 15,840
= 155,000& x6H x12& 11,160
8~9=2 145,000 *8H x 12& 13,920
HAFE 155,000& x2H ~12& 3,720
304 =222 223,277 219,992 3,285
01 H=2RE=2 166,400 171,071 N4 671
@)= a= = 140,818
2 ot X 1,428,490,000& *9% 128,565
HAFE 136, 137,000& *9% 12,253
OdZ2RgEAEZ2 1,564,627,000& *1.635% 25,582
02 m0IAHAALEES 56,877 48,921 7,956
OAHUEEZ 23 1,564,627,000& *3.35% 52,416
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